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(1) I'm planning (on to / to) subscribe to Luke’s YouTube channel.

(2) I'm planning on (study / studying) abroad next year.

5=

2o

D I'm so stressed out these days.
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@ My parents always stress me out.
® | get stressed out before presentations.
@ I'm so stressful because of exams.

® Studying too much stresses me out.

4 ofel 2xto|A O3 BES S0} SHI2H TH HH|2.

It took me a few weeks, but | finally got the hang of my homeroom teacher.
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1. (1) to (2) studying

2. @ I'm so stressed because of exams. 21 5HOF SH}
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3.got thehang of — got used to



